PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
5th August 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 9 9y ¥, tgd Q) vl & 9 feft vopR &1 way g Fw fawent & § @ur g g e
TR 12 F Ty S UPR T I9Y T

FED: MKI::PON:?
e WUS
e THG
e MNO
e SRQ
Correct Answer :-WUS
2)
Question Stimulus :-

On which river is the Cyclopean Dam / fPa it w® ﬂﬁﬁmﬁhﬁ i T T T 82
® Narmada / :lﬁa'f
¢ Chambal / I+
e Tapti/ dTodl
 Betwa/dddl

Correct Answer :-Betwa / addl

3)
Question Stimulus :-

Thalghat pass is between Mumbai and / YTeT™TE AT Yo U4 3T& 19 8:
* Numbai / T<§

()



® Pune / ET?[
® Byculla / ISPl
® Thane / BT

Correct Answer :-Pune / U

4)
Question Stimulus :-
In the following diagram. / 9 Gﬂ?ﬁﬁ

« Circle S stands for households having a scooter;/ g S 39 URARI &I g¥Iiar g, oFF Uy
THeX Bl

« Circle T stands for households having a TV set; / 9 T 37 URAR| $I a=1ia1 8, o9& U=
A 21

e Circle W stands for households having a washing machine; / 9 W 34 uRarl @1 g=rtar %,
o g IR w=ie g1

« Circle C stands for households having a car. / 39 C 39 URaRI ! gx1iar 8, F® U $R B

Note: The different numbers indicates the non-over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / &9 ¢: S ¢: 3 T-3eN HBATY
&l B Jferd HRet 3l wgw%f%rq seaar 1,11,12,8,9,10 3R 6 & TY H! g0iar gl

Household having only scooter are represented by / 39 URARI &I &d g=IfaT wmew, ™= o9
Fad TPpeI 3

« RegionS / &3 S

e Union of Region 1,6 and 9 / &799 1,6 3R 9
()



e Regionl/ &71
¢ None of these / ﬁg?&ﬁ

Correct Answer :-Region1/ &9 1

5)
Question Stimulus :-

Who among the following has been nominated by BCCI for the Rajiv Gandhi Khel Ratna Award for year 2016? /

FrafafEa # ¥ 19 ad 2016 & T I T @ 7@ ReerR & e dffteng grr afta foear w82
* Sania Mirza / AT{=rT fHeit
® Mahendra Singh Dhoni / g% g ¢+
* Virat Kohli / faRTe ®igeit
e Saina Nehwal / 9TS-IT Hgdrd

Correct Answer :-Virat Kohli / faRTe ®igell

6)
Question Stimulus :-

The Aguada Central Jail, to be transformed into a tourist attraction, is located in which state of India? / 3[3{TST @Eﬂ'

o< Sl U Wee STyl & U § dedie [paT ST 3, HIRd & fpa Irsa & fRa 82
® New Delhi / 7% feedt
* Goa/TaT
® Maharashtra / HEIRTY

® Andhra Pradesh / GIT?IU%-‘ZT

Correct Answer :-Goa / Tdl

7)
Question Stimulus :-
The rivers Chambal, Sindh, Betwa, Ken flow northward and meet with______ River. / ?iaﬁ, ﬁ:fﬂ, a?laT, G| qﬁ'ﬂT
SR B 3R gEd § ok T frerdt €1
® Ganga/ |

® Godavari/ Tn'd'l'aﬂ
(4)



® Tapti / dT&T
® Yamuna / 9g-AT

Correct Answer :-Yamuna / 9T
8)
Question Stimulus :-

By the confluence of which rivers is the Mandhar waterfall formed? / ﬁ'T"I':IﬁTﬁ & TH P gRT HEUR glﬁ Cal

TS gielT 82

® Chambal and Narmada /ddd GﬁTqﬁET

e Narmada and Tawa / THST 3R daT

® Narmada and Tapti /?ﬁﬂT 3T ATt

® Chambal and Tapti / g 3R arwit
Correct Answer :-Narmada and Tawa / THGT SR dl
9)

Question Stimulus :-

There is no provision in the Constitution for the impeachment of - / fras ﬂ?lﬁ-l'qﬁ'ﬂ ¥ o dfqum=r o aﬁ's‘
AU 51 §

® The Chief Justice of the High Court / 3=l <TATd ﬂ?g@ WTquﬁ'f
® The Chief Justice of India / HRd & YT <A

® The Governor / IIodUrdd

® The Vice-President / GTRquﬁf

Correct Answer :~The Governor / ITsdUTd

10)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg foww ﬂﬁE
o 2T T HY=T ud fAehul & 9R § 99 §:

Statements: / ®Y-:

No breads are butter. / &3 38 H&ad g1 2l

(®)



No buns are bread. / ﬁé qrq ﬁé’r%"r%l
Conclusions: / femd:
I. All buns are butter. / 9 Uld #g@ g1

II. Some bread are butter / Wﬂ'ﬁ'ﬂﬁ@? %'I
e Only conclusion | follows / %de f-shd I e §
® Only conclusion Il follows / %ad fosw 1| freear 8
e Both conclusion I and II follows / A=ty I 3R II N Read &
* None of the conclusion I or II follows / fpd 1 a111 & I %15 =181 Aoaar g

Correct Answer :-None of the conclusion I or II follows / fspd 1 a1 11 § @ ®1§ &)
Feaar g

11)
Question Stimulus :-

The tallest victory tower in India is / HIRd &I a8 S faorg Ty %

® Qutub Minar / W’Fﬁ:ﬂ?

* Fateh Burj / Bdg qol

® Chand Minar / ?-l'\l’_c{ﬂ:HW

 Tswari Minar / %3 HIAR
Correct Answer :-Fateh Burj / Wdg gof
12)

Question Stimulus :-

The Chairman of the Rajya Sabha is - / ISg 94l & Iree

Elected by the members of Rajya Sabha / 1o HHT ﬂﬂ'\“ﬁ QX1 foatfa E-ﬁf %
Nominated by the President / ?Tg'qﬁ[ §IRT ATHIfHd Eﬁ% %
® FElected by the members of both Houses of Parliament / L3RI & a:ﬁ '\‘E:ﬁ %W R fratfa Eﬁﬁ %

Elected by Parliament and State Legislatures jointly / ﬂ'ﬂaﬁ FTUH Iy fqurHed i I9G GRI
fratfa g @

(6)



Correct Answer :-Elected by the members of both Houses of Parliament / TG tg Eﬁ:ﬁ '\‘Iﬁ %ﬂﬂ'\“ﬁ

&1 Fratfa g @

13)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey gﬁrq
Si T T Syl vd el & ar o 98 B

Statements: / ®Y-:

Some pens are pencils / $9 U9 U %
Ruler is a pen / &H’HTWW%
Conclusions: / fA=pd:

I. Some pencils are pens / $9 iR waw &

II. Some rulers are pencils / $9 mH IR §
e Only conclusion | follows / Pad 5Py I fAwadr &
e Only conclusion Il follows / Fad f~reh Y |1 fPerar &
® Both conclusion I and Il follows / Gl f-TsHT I 3R II fFHad §
e None of the conclusion I or II follows / fed 1 11 # A #1581 Rpaar g

Correct Answer :-None of the conclusion I or II follows / Fspd 1 a1 II § & ®1§ &)
Feaar g

14)
Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, shgre a
common similarity while one is different. Choose the odd one out. / Ty ff, PO Tl &

s 6 T E, it 9, Faw 0P 31 Blsaw, WM § TP TP e § | foww A o g |
e BCD
e NPR
e KLM
e RQP

Correct Answer :-NPR

(7)



15)
Question Stimulus :-

The Shanti Swaroop Bhatnagar Award is given by which of the following organisations? / TMifd WHT HeATR

RWR a1 fow e grT fear sirar 32
® Indian National Science Academy / YR ?T@Tl ﬁ?l'l_"l' S[PHTGHT
® Department of Science and Technology / ﬁ?l'l:lt{a wren st faumr
® Council for Scientific and Industrial Research / %ﬂlﬁﬁﬁ Qa' G'ﬁgﬁﬁﬁ’? Glﬂﬂ T tlﬁ'ﬂ?{
® Indian Institute of Science / HIRA g ﬁSIFI'MT{

Correct Answer :-Council for Scientific and Industrial Research / %rﬁwqa 3nenfire G'Iﬂﬂ"éﬂq uiye

16)
Question Stimulus :-

If 15t of May in a certain year falls on Monday. What will be the date on the next Monday?

/ MR 530 Tp 9 # 15 7 AHAR $I TSl € df 3RTe JIHAR &1 7 i gii?
e 20t May /207E
e 215t May / 21 S
e 22"d May /22HT
e 23" May /2303
Correct Answer :-22"9 May /2293

17)

Question Stimulus :-

Rambo is the brother of Chris. Chris has another brother i.e. Andy. Deepak is the husband of Chris. Andy is the son of Bunny.

How is Bunny related to Deepak? /wmﬁmﬂg%l mm@éﬁ?%w%l aﬁwﬁﬂrmvﬁr%l Q@ﬁa:ﬁab_l'
T | T TP § S Gl g

e Sister-in-law / 9t
® Sister / dgH
L Aunt/'l:ﬁ@)f

® Mother-in-law / JTH

(8)



Correct Answer :-Mother-in-law / 9T

18)
Question Stimulus :-

The dam that is located in Bhopal, which helps in controlling water from the Kaliasot river is called / CICEE]

Hurer & Ry 8, S sfermata 7d &1 url Frifya s § were §
® Sanjay Sagar / Ho1d NN
¢ Rampunkhund Tank / JAYAES dTeld
* Bhadbhada Dam / HGHTT T
® Pehsari dam / ﬁwr\ﬁ qQY
Correct Answer :-Bhadbhada Dam / HGHGT 1Y
19)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been nhumbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / Y| & fqafRyd &R T 3 T €1 Ul MR P Twifed far a1 g1 a8
e g =it adfe 3 & v & R Wi F wu A iRl BT 98 w9 a1 8]

RTAOUH

123456

e 1,3,4,5,6,2

e 2,3,64,5,1

e 3,5,2,6,4,1

®* 6,3,24,5,1
Correct Answer :-3,5,2,6,4,1
20)

Question Stimulus :-

Among five friends, Dipti is in the middle by age. Kamal is youngest. Savitha is older than
Narayan ,who is younger than Rashmi and Dipti. Who is the oldest among them? / Uld o

# 9, Il 39 & SguR ST # 81 FHT a9 Siel g1 Jfdar AR/ A 931 §, o fF wrft ofik Rl A sier
21 399 a9 981 B 82

©)



e Kamal /HA

 Savitha /afdar

* Narayan /ARTIU

e Data inadequate /@ET Gm?lfﬁ%
Correct Answer :-Data inadequate /ST AgTwT 8
21)

Question Stimulus :-

Bateswar group of temples is located in ./ Hfe=l & EI%%R'\‘IHE H fua g1
* Ujjain / I
L Morena/@?T
. Khajuraho/@\_{l,?'lﬁ

® Ratlam / IdTH
Correct Answer :-Morena / G311
22)

Question Stimulus :-

Under whose advice does the President of India declare Emergency under Article 352? / GF:[%_Q’ 352 & Sfeia

P! Tee W YRd & APUfT SMaTaPTe gifvd $3d 82
e Council of Ministers / B uf¥ug
® Cabinet / BfeAE
® Chief Ministers of all states / G I} & H@Tﬁﬁ
® Prime Minister / TTHAT

Correct Answer :-Cabinet / $iaqe

23)
Question Stimulus :-

What is the day on 15th August 2055? / 15 3[T& 2055 &I ®I 91 271 82

e Monday / THAR

(10)



* Tuesday / HIddR
e Sunday / IdaR

® Thursday / 3dRR

Correct Answer :-Sunday / IdaR

24)
Question Stimulus :-

If its cookie or coffee then you get mileage and speed. You get mllea e and speed then
either it was a cookie or it was coffee or both. / 3R 1% fovpe %?ﬁ 3! HIgaS 3R T
T BT 81 SMUDT ursaw SR T uTed gl 8 &t O < a8 e mmmtb"rma’ﬁ‘reﬁl

e True / gl

* False / Tqd

e Maybe / Bl IHdr §

e Irrelevant / 3UTERIS
Correct Answer :-True / Tgl
25)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe
g, St ab @1 e I TR Re e sy & w2 -

If you like reading, then you like novels. / e US| TGT 3T TIET 7, dF SATIH! SUUTH TS |

e If you don’t like reading, then you don’t like novels. / uﬁarrqﬁm 3T A8 I,
1 STUPT SUATH UG a1 |

e If you like novels, then you like reading. / Tf¢ 3MU®! IUUTH U< 8, a1 3ITUD] USAT 3T
T 8l

e If you do not like novels, then you do not like reading. /ﬂﬁquﬂ"c{qﬁ, a
TP TSHT 33T 81 o 2

* None of the above / SWRIad &5 A8l

Correct Answer :-If you do not like novels, then you do not like reading. / afe Smupt
IUSATH UG g, oY 3D UHT =BT g1 vt 2

26)
(11)



Question Stimulus :-

1. A,B,C,D,E,F and G are sitting on a wall and all of them are facing east / A,B,C,D,E,F ARG

T $laR R qd #) iR g Py gu Id @
2. Cis on the immediate rightof D / D %ﬁmaﬂ%ﬁ’r&mc%

3. B is at an extreme end and has E as his neighbour / B ﬁm Gﬂ@?ﬁ% 3R E wu@ﬁ;ﬂ%

4.Gisbetween Eand F/ E3RFHF AT AG?

5. D is sitting third from the south end / D E."F&WT@T@ IR RSN ] WQBT%

Who is sitting to the right of E? / E & &g+l 3R &4 daT 82

¢ None of these / 3711?[ '\ﬁﬁ'&‘?&ﬁ
Correct Answer :-None of these / 38 § ®I5 gl

27)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fove
gHe, s b @1 =S ¥ R R 1T $Y= & JuE 2

If you like movies, then you are my friend / fe E[FIH?‘T fred wig %} Gl qq W R T;?r

e If you don’t like movies, then you are not my friend /‘Clﬁ."g’q'cfﬁ fﬁﬁﬁmﬁ%, a qH
Y G T @

e If you are my friend, then you like movies / af¢ g0 T k4 &, a9 gHo! Fe woe &

¢ If you are not my friend, then you don’t like movies /ﬁﬂ'ﬁﬁ%iﬁ'ﬁﬂﬁ'@r, ?ﬁﬂtﬁﬁ
frel wig 81 §

® None of the above / mﬁi H?f

Correct Answer :-If you are not my friend, then you don’t like movies /qﬁﬁqﬁ%aﬁ

T8 8, a1 g fred g 181 §
28)

(12)



Question Stimulus :-

When there is President's Rule in a State, the power of passing the Budget of that State rests with WASCRY:

Iy H YU TR 7, I 369 & Foie Ui o e & a1y el g3 7
® Rajya Sabha / ITSOHHT
® Lok Sabha / GIGTYT

® Governor / 3sdurd

® President / Tl'gqﬁl'

Correct Answer :-Lok Sabha / @iodYT

29)
Question Stimulus :-

Which famous ruler’s tomb lies at Bhojla ki Pahari in New Delhi? / CaE k| URTE AP PT ADBER]T q_sc feet o
YISTen &t UETSt W 82

* Razia Sultan / ITAT Fea =T

® Bahadur Shah Zafar / dgIgX RTg WP

® Shah Jahan / RITg W&l

® Rani of Jhansi / %I’IJ'\‘ﬂ CikibIl
Correct Answer :-Razia Sultan / XTIT e
30)

Question Stimulus :-

Find the word that represents the category of the following three words. / dg Req IId Fiford
it forg i et ot AR Y gwifar @

Coal, Iron, Mica / Tﬁﬂ?ﬂ, @ET, YD
® Rock /"aﬁ
* Minerals / @il
* Gold / Tl

® FEarth /T{?-ﬁ

(13)



Correct Answer :-Minerals / @Sl

31)
Question Stimulus :-

Which circulation coin has been released on the 475th birth anniversary of Maharana Pratap? / I 1 Tae RrahT

HERTUT FATq &t 475 Of Sroid! U= ST fopam T 82
e 100
e 5
e 50
e 10
Correct Answer :-10

32)
Question Stimulus :-

Indira Gandhi international airport is in which city? / gfemT mieh GWI'@T{ 37‘—“_&; ) g TR d 32
* Delhi / fgeeit
® Mumbai / G&§
e Kolkata / CAGEAGI]
® Varanasi / FRTUTHT

Correct Answer :-Delhi / fac=i

33)
Question Stimulus :-

Natya Shastra was written by / ¥Tc QA 3’3&7 SR forar ar or:
® Bhasa / HTHT
® Bharat Muni / HIRd g+
® Vedavyasa / d¢ =g

® Nara Muni / 9IRT Hﬁ'

(14)



Correct Answer :-Bharat Muni / HRd gf

34)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / d% fda®eg gfAg
S feT T SyHY wd fAehul & 9 § 98 2

Statements: / ®Y-:

All planes are trains / Hﬁﬁmm%ﬁ%l
All trains are buses / Hﬂ-ﬁmﬁ;ﬁaﬁ%l
Conclusions: / f=p:

I.Some planes are buses / $© fauF T4 2l

II.All buses are planes / I 59 faum 1
® Only conclusion | follows / ad fsp Y I fAredr &
* Only conclusion Il follows / Pac f~rehd 11 FrderdT &
® Both conclusion I and Il follows / &Il f&hY I 3fR 1I Fed &
e None of the conclusion I or II follows / fsd 1 a1 II # & 15 =g Rpaar g

Correct Answer :-None of the conclusion I or II follows / fepd 1 AT 11 § A HI5 &)
Foeaar g

35)
Question Stimulus :-

Following are the three positions of a cube. / 7% 79 ¥ @7 Rufaai §

(15)



TO™ ROM

M T
TACK TOM
15t view 27d view
RON
\EAL MEL
Idyiew

What is the name in the face opposite to the face having name RON? / RON W &
Ba® & QAR Bae W T T 82

® NEL
* JIM
® NEAL
® JACK

Correct Answer :-JACK

36)
Question Stimulus :-

Rajan is sixth from the left end and Vinay is tenth from the right end in a row of boys. If
there are eight boys between Rajan and Vigii%%how many boys are there in the row? /

ASH| B! b Ufed | e 918 3R V B¢ VM R fo7u TIft9 ©R A U WA R 71 Il IeH 8k
1 & d= e as% €, o fed § fras as® 2

¢ 23
* 24
e 25
® 26

Correct Answer :-24

(16)



37)
Question Stimulus :-

Select the statement that is the negation of the statement "Some poodles chew shoes.” /

I YT DI g ol 3H HYFT BT UfdaIg § " DI P o TG 817
e No poodles chew shoes. / 3 Sier $1 3 T8 aml
e If it chews shoes, then it isn't a poodle. / TS T8 S[d IqTdT §, 91 98 U Stel FT 8] 2
e All poodles chew shoes. / ¥} B¢ $9 Fd T4 B
» Some poodles don't chew shoes / o B¢ T o 8! TaTd B

Correct Answer :-No poodles chew shoes. / %3 Bl $I Sd &l Tl

38)
Question Stimulus :-

City Fruits orders Apples from Himachal Pradesh. The transportation cost of apples is
Rs.200 per kg and cost of storing them in a cold storage is Rs.100 per Kg. Right nhow there
are 100 Kgs of apples in the storage. City Fruits plans to place an order. / "ﬁré’rm 3
fRuTad uewr ¥ I HAK §1 A9 B1 ulkags anra ufd fral 200 FUT 3 3R IHI Bivs TR | TIE
muﬁm 100 =0T g1 3t WSRU # 100 e A9 &1 "Rt pea Sk 37 B g

|

Suppose as in the previous questions the next month price of apple remains at Rs.400 per
kg and demands for the next 2 months as 500 Kg each month. Now if the transportation
cost increases to Rs. 500 per Kg, how much would the store order given the storing and

transportation costs? / HIH ?ﬂﬁ:ﬂl ST fUse vy ﬁﬁ'ﬂTﬂ'ﬂT% BT 3T 'Flfﬁ A9 Bt PIAT 400 U Ufd
frent 9 € B 81 SnTa 2 HEH & frw wiv 500 fFERH yd® wiE €rft1 afe uRagT #1 @RTg 500 FUT
I% 9 T ], A USRI 3R uRasT &) arTa &a §U gP M faha-T UTe wraTeii?

* 400 Kg / 400 fpat

* 500 Kg /500 el

e 900 Kg / 900 foal

e 1200 Kg / 1200fFaN

Correct Answer :-400 Kg / 400 fal

39)
Question Stimulus :-

What is the destination of the train Chetak Express that starts from Delhi? / feel 9 ge= arell da® Taaus &1
o W I AT §?

(17)



® Guwhati / aTgTél

® Udaipur / 3q4Y}

® Jhansi/ STET

® Kanyakumari/ m@m‘ﬂ

Correct Answer :-Udaipur / 3GaYY

40)
Question Stimulus :-

Which of the following states is the largest producer of coffee in India? / o wreal § | o9 T YR | SIwl
BT I 931 IUTEH &2

 Karnataka / PIc®H

* Kerala/$%d

* Odisha / 3fS=M

® West Bengal/mm

Correct Answer :-Karnataka / Bic®

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

In a certain code PLUTO is written as PTULO. How is EXIST written in the code? / ol wrg Fis ff, PLUTO &I

pTULO ToRaT SITdT 8] 39 ®I8 # exisT &) $4 forar ST 82
* STIXE
o ETXSI
o ESIXT
* SITEX

Correct Answer :-eSIXT

2)

Question Stimulus :-

(18)



The marked price of sofa is 3500 then 8% discount is allowed then calculate its selling price? / T

AT 3ifpa goa 3 3500, fiFR 8% o Fe gfa &t W< B, a9 ST®1 fawa gea J1a Siferg]
* Rs.3220/ FUT 3220
* Rs.2220 / =TT 2220
* Rs.1220 / UT 1220
* Rs.2000 / UT 2000

Correct Answer :-Rs.3220 / =0T 3220

3)
Question Stimulus :-
Complete the series choosing the missing letter/s: / fAqw@ &R B STaT B W BIT :

_ _caab _a_bbca_bb_c
® abcaac
® abcabc
® bcacab
® caacba
Correct Answer :-abcaac
4)

Question Stimulus :-

8 men can do a work in 15 days and 15 women can do the same in 10 days. If all 8 men
and 15 women can work together, in how many days will the work get completed? / 8 T34

TP $M Pl 15 G A R HR TFd € 3R 15 ARANE W o™ &1 15 A & 1 $= a&dl g1 afe Jft 8
739 3R Tt 15 AlRAT 9y A F1 FR GFd § 9, F R R A Faq A &1 gwa ame

. 4days/4ﬁ7{
. 5days/5ﬁ7'[
. 6days/6ﬁ=f
° 7days/7ﬁ=l'

Correct Answer :-6 days / 6 {9

(19)



5)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / ¥ 33 T IR val & ¥ R o T 1@ & Stp 99 = S 91 TP T8l 82

Monoco Canoe Club
c/o Kennedy
861 Colts Neck

Freehold, New Jersey 07728

(i) Monoco Canoe Club
c/o Kennedy
861 Colts Neck

Freehold, New Jersey 07728

(ii) Monoco Canoe Club

c/o Kennedy

861 Colts Neck

Freehold, New Jersey 07728
(iii) Monoco Canoe Club

c/o Kennedy

861 Colts Neck

Freehold, New Jersey 07728

(iv) Monoco Canoe Club
c/o Kennedy
861 Clots Neck

Freehold, New Jersey 07728

(20)



® ii

® jv
Correct Answer :-iv
6)

Question Stimulus :-

A merchant marked Rs. 240 as the price of radio which is 20% more than its costs Price. A discount of
10% is allowed on marked price. What profit does merchant get in this transaction? / WWW

B BT 240 FUC AT HaT 8 N F A T 20% warer g1 Fafwa g/a 1 10% o1 ge & srgufa g1
BT o ATH JdTE?

° 17

° 18

* 16

° Noneoftheselﬁﬁ@ﬂ’ﬁ'&fqﬁl
Correct Answer :-16
7)

Question Stimulus :-

There are four alternatives for the following question. Find out the correct one. / R CKY

ferg =R fawpey & WEt aren g

i. '‘Quo Cui Heer’ means ‘Boy is Good’ / ‘Quo Cui Heer’ mw% ‘Boy is Good’
ii. ‘Lai Quo Mea’ means ‘Meena is fair’ / ‘Lai Quo Mea’ WW%‘ Meena is fair’
iii. '"Ruo Lev Mea’ means’ ‘All are Fair’ / ‘Ruo Lev Mea’ &1 4ddd g ‘All are Fair’

iv. 'Si Hai Cui’ means ‘Dog was good’ / ‘Si Hai Cui’ P HIAd & ‘Dog was good’

Which of the following encryptions stands for Quo? / a Q’@?WF-ﬁ ) Quo & fog PIT AT '%?
* Boy
° is
®* Heer

(21)



e Lai
Correct Answer :-is
8)

Question Stimulus :-

The distance between A and B is 330 km. A train starts from A at 8 am and travels towards
B at 60 km / hr. Another train starts from B at 9 am and travels towards A at 75 km / hr.

At what time do they meet? / A 3i¥ B & &g &1 g&f § 330 &1 t& 37 gag 8 s9 A | = gIHx
B @1 TR 60 &/ del &t 1fd I Tadl 31 T gl e Jag 9 Tof B A = §1PH% A &1 W 75 forelt/der
@1 7T | gt 71 9 T awg w fAeddz

* 10am/JdE 10 T

* 11am/gaE 11 T

* 10.30 am/ gdE 10.30 T

* 11.30 am/ JEE 11.30 TS
Correct Answer :-11am/gqg 11 §9
9)
Question Stimulus :-

Complete the following sequence of figures. / HAAl & H HH BT R BIfoM:

3 FEEE [

(22)



IR
™,

R¥AY
un

Correct Answer :-

10)
Question Stimulus :-

If 820+x+y-610=342 and x=84 theny=? / e 820+x+y-610=342 3R x=84 qt y=?
e 84
e 58
e 38
e 48
Correct Answer :-48
11)

Question Stimulus :-

In a code, PENCIL is written as LICNEP. How is ERASER written in that code? / TP Tbd ﬁ, PENCIL &1 e UpR

forar AT uenep. g3t Hd A ErASER B TR TR fordi?

® ERASRE

® ERESAR

® RESARE

® RERASE
Correct Answer :-RESARE
12)

Question Stimulus :-

In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 99 Uy ¥, G©I 491 A TP UG TAd B TAd UG I BIOA|

6,12,24,48,96,190

(23)



* 190
° 48

Correct Answer :-190

13)

Question Stimulus :-

3
From the market, Naresh brought an exercise book for Rs 12.50, a book for Rs 25 4 &
1

1
drawing sheets for 10 . If he gave hundred rupee note to the shopkeeper. How much
will the shop keeper returns to him? / 96IR ¥, R 7 TF HEd $1 [PaE 12.50 T4 T TWid],
3 1
n . . .4
T fhae 25 4 T A SR SET ME 10 F | IR T T T F71 Al gHHeR J ¢ f&an, &t
IPER 39 fha dlerr 82

bt |

e 61

b |

e 51

2|

. 41

b2 | =

b2 |

Correct Answer :-51

14)
Question Stimulus :-

(758/758)x8+((540/9)x7)/6-35x(400/700)=?

¢ 58

(24)



® 49

® 68

® 75
Correct Answer :-58
15)

Question Stimulus :-
Three numbers A, B and C are in the ratio of 2:3:1. Find B if the sum of these three
numbers is 360. / 9 GBITE A, B 3R C 2:3:1 & 3Jurd ¥ &1 3R 39 a9 I3 BT $d Sl
360 &, °f B f@fem|
* 180
® 160
* 100
* 150
Correct Answer :-180
16)
Question Stimulus :-

If odds in favour of an event are 4 to 5, find the probability that it will occur? / T YUcHI %q&‘[ﬁ 4% s ET‘EITQ %, ar
1 YUTIAT © o a8 8 sirem2

® 5/9

° 1/3

* 4a/9

® 1/9
Correct Answer :-4/9
17)

Question Stimulus :-

How many triangles are there in the following figure? / IBL| GI'I?% H fFaa R g2

(25)



<~

Correct Answer :-9

18)
Question Stimulus :-

If 436A X 232 = 10B2D80 where A, B, D are representing a numeral, what is the value of A? / TI'% 436A X 232 =
10B2D80 STET A, B, D TUBATP &, 99 A BT T HIF &2

Correct Answer :-5

19)
Question Stimulus :-

In a certain office, 70% of the workers prefer tea and 46% prefer coffee. The percentage of worker who prefer both is/

w&ﬁm%ﬁm%mﬁamﬁaﬁuméﬁ%'aﬁ?%% DIW B | G DI IRIGAT G aTel SHATRG] Bt

® 16%

® 18%

(26)



® 20%

® 15%
Correct Answer :-16%
20)

Question Stimulus :-

The price of sugar is reduced by 4%, how many kgs of sugar now can we buy for the money which was sufficient to buy

18kgs of sugar earlier? / TGP Pl HIHd B 4% EIET%QT‘TQT%, wmmm@ﬁmﬁ%mw
TG IFd ¢, off Ugd 18 fHur e Titen & fog waiw a2

e 18.5kg / 18.5f%uI.

e 18.75kg / 18.75f%u.
 18.25kg/ 18.25(F.
e 18kg / 18f&u.

Correct Answer :-18.75kg / 18.75%3T.

21)
Question Stimulus :-
CANCELLED

If alphabets are encrypted as numbers, F-H x I is equal to / gfe 3Rl Pt @l & ¥u H
uf=pp fPaT AT §, 1 F - H x I SRIeR € S9&

e 20
e 18
e 16
e 14
Correct Answer :-18

22)

Question Stimulus :-

In throwing of two dice, the probability of getting an even sum is / 3-']' Uﬁ@ﬂﬂ[ﬁ'ﬂﬂl T HUTGAT %QTF[
AT 3TC?

(27)



° 1/4

° 1/2

e 1/3

® 1/6
Correct Answer :-1/2
23)

Question Stimulus :-

If ABCDEF is coded as ZYXWVU then what will be the code for TOYOTA? / Tf¢; ABCDEF & zvxwvu J ®ifsda foear

WTdT §, df TovoTA & ford #am ®Ys ghm?
* ZGLBLG
* LGBGZL
* GLBLGZ
* GBLBGZ
Correct Answer :-GLBLGZ
24)

Question Stimulus :-

The series given below contains a s'equence.of_al_phab_ets and numbers. Identify tl'_le
incorrect combination: / - &t T @@ 3eRY TH IBATSH BT SIHH WA Bl g| TTad Fare-
LEEIER]

(i) nj7t4x7t2vuwd
(ii) nj7tax7t2vuwd
(iii) nj7t4x7t2vuwd

(iv) nj7t4x7t2uvwd

® ii

(28)



® jv
Correct Answer :-iv
25)
Question Stimulus :-

Find the value of "Cq / M Co &T dM fA®mIferd

* (n-1)
Correct Answer :-1
26)

Question Stimulus :-

Complete the series choosing the missing number: / TAqw W= gAHR gadr ﬁ‘BT PO :

0,2,6,12,20,

® 36

* 34

° 30

° 32
Correct Answer :-30
27)

Question Stimulus :-

What is the average of prime numbers between 30 and 60? / 30 3R 60 F &9 BT [T
TEre o1 Sfad = 82

° 442
° 44.8

® 444

(29)



® 44.6
Correct Answer :-44.4
28)

Question Stimulus :-

Complete the series choosing the missing number: / AW IWAT FADHR 9GAT BT GRT B :

480,120,40,20,
e 20

* 10

* 15
Correct Answer :-20
29)

Question Stimulus :-

Complete the series choosing the missing letter/s: / fAqW 3&R TADH STAT HI T BIfOIT :

® caca

® cccc

® acac

® aaaa
Correct Answer :-cccc
30)

Question Stimulus :-

A train is moving at a speed of 60 km/hr. If the length of the train is 100 meters, how long will take to cross a railway

platform 150 meters long?/wa:mo %:ﬁ/aaﬁwﬁr%aﬁra%l qﬁéﬁﬁm IOOIﬂE?%,?ﬁ 150 Hiex
T TP ¥4 WEBTH P UR B9 § ST foha=1 99T TRm?

* 12sec/ 12 AbS

(30)



* 10sec/ 10 AbS
* 15sec/ 15 DS
® 18sec/ 18 aih_é';

Correct Answer :-15 sec/ 15 Ghs

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Alluvial soil which flows from Himalayas to the rivers of North India is a combination of / FIT'ﬁE Hal S|

T feTe & ST WRa @t A 7@ Todt 8 Fa @1 daeT @

e Rock+ Sand+ Silt / aE™ + a1q +7g

e Clay + Sand + Gravel / el ga1 + 9 + S

e Silt + Clay + Sand + Gravel / 7§ + R&1 ga1 + 91 + $ds

» Stones +Clay + Sand + Gravel / R + RSN gar + 919 + Fhe
Correct Answer :-Silt + Clay + Sand + Gravel / g + &+l 9T + a1 + HPs
2)

Question Stimulus :-

The marked price of a fan is Rs. 620. Due to off season, a 15% discount is allowed. The
S.P of the fan is (in Rs.) is: / % U® &7 3ifhd eI 620 FUT 3| AT HIGH & BRI, 15% P e
P TN §1 UF BT 9T JU (S.P.) § (U4l #):

* 527
* 427
® 537
* 547

Correct Answer :-527

3)
Question Stimulus :-

Evaluate 74 - 81 / 74 - 81 &1 M [R®I1eig

(31)



* 1320

® 2420

° 2321

* 2320
Correct Answer :-2320
4)
Question Stimulus :-

If 0.4 of a number is equal to 0.06 of another number, then the ratio of the numbers is: / qﬁ TP =T FT 0.4 Th
3T BT & 0.06 & SRR 7, 99 G&AT3HT BT U 8:

® 20:3

® 3:20
Correct Answer :-3:20
5)

Question Stimulus :-

The liquid that cannot conduct electricity is / 9 Ell ﬁgq?r PT AT gl DR dhdl
® Tap water / & DT UTHI
® Distilled water / 3T ¢l
® Ssalt solution / @0l faea=
® Lemon juice /:ﬂqu'ﬁ
Correct Answer :-Distilled water / 3IRId STd
6)

Question Stimulus :-

The following graph shows the marks scored by A and B in a test series consisting of 5 tests i.e. Test 1 to Test 5. Each
test consists of 200 marks. Answer the subsequent question depending upon the information in the graph. /

(32)



frraferiad UTE A 3R B GIRT THIam # @ U 3P &f fe@mar g, SR 53 el ((RT 1A TK 5), W
I 200 3P BT T | UTPH A STHBRI B TR R T BT Sidrg ¢ |

T -
[T -

-

Tean Tesr 4

The average marks scored by A in all the tests will be: / A gIRT T T&0i & @1 7T N9 3ib gi:
* 125
e 130
* 140
e 145
Correct Answer :-130
7)
Question Stimulus :-

The unit’s digit of the term 659 is / US 652 §, SIS P13 ¢

.6
4
o 2
o

(33)



Correct Answer :-6

8)
Question Stimulus :-

The circumference of a circle with radius ‘@’ is . /ﬁ\_rEIT ‘9* B U qd CaR ITIE] %

Correct Answer ;-2

9)
Question Stimulus :-

Air contains Nitrogen, Oxygen, Carbon dioxide and small amounts of other gases. What is the approximate % of
Nitrogen gas? / aTg ® T3¢, STRITSH, BT STSATRITGS TF 39 19 $© AT § UTE of1d § | ATgeio
I T T ufa=a foeae &2
* 21%
* .03%
* 78%
* 1%
Correct Answer :-78%
10)
Question Stimulus :-
A spore producing plant is /EﬁFITl'{[ Il urem %
® Bryophyllum /Wﬁﬂ'ﬂ
® Potato / 3IT¢

® Ginger / 3IG¥P

(34)



® Bread mould /58 ng_qpf
Correct Answer :-Bread mould /5§ B
11)
Question Stimulus :-

When we try to push an empty mug into a bucket of water, the / STd §H g &t Udh Tl § Udh QT |/
TAYID STeH PT TATH Hd &, 99

® Water exerts pressure on the mug / U=l 1T R qld STadl %

® Air exerts pressure / AT GId STad! @

® Pressure increases with depth /WT{' & 1Y qId d¢ STl %

® The mug exerts pressure on water / HI[ Ut R old STddl %
Correct Answer :-Water exerts pressure on the mug / UI<I 3T UR &9 STl g
12)

Question Stimulus :-

The following graph shows the marks scored by A and B in a test series consisting of 5 tests i.e. Test 1 to Test 5. Each
test consists of 200 marks. Answer the subsequent question depending upon the information in the graph. /

frafafad amw A o B gRT udia # w8 Y 3ie! o few T g, A 5 e 8l (R 1 AL 5), W
I 200 3(F BT T ATH H SRR P STUR W HdTed BT SId1d & |

HHnnnme

T
I

e
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The average marks scored by B in all the tests will be: /B ammﬁ qﬁ&wﬁﬁaﬁw 3T Wfﬁ'ﬁ
® 120
® 125
* 130
® 135

Correct Answer :-130

13)
Question Stimulus :-

The distance of the Sun from the earth is said to be about /qea‘r | RS Dt QT& T Za- ?
® 38 light minutes / 8 YPII fire
® 6 light minutes / 6 UDIRT fire
® 4.3 light years / 4.3 YDPIRI ay¥
® 3.4 light years / 3.4 UBIRI EL]
Correct Answer :-8 light minutes / 8 UTRI fi=e

14)

Question Stimulus :-

For movement Euglena organism uses / & m,?}}'f'ﬂ_'ﬂ Sig 3'@' Eﬁ'ﬂﬂ'@f CXGI %
e cilia / fRferar
® Pseudopodia / UTGIH
® Flagella/ CRIRIGa
® Tentacles / G|
Correct Answer :-Flagella / HRITTHDT
15)

Question Stimulus :-

The Non- Metal that exists in the liquid state at room temperature is / 3¥Tq S ATHT 919 TR &9 (a7 #
SUFRYT ¥5aT §

(36)



e Chlorine / TR

* Flourine / AR

® Bromine / STHIA

* lodine / TSI
Correct Answer :-Bromine / 119
16)

Question Stimulus :-

Sexual mode of reproduction is observed in / Wﬁ R yorrelt SO gl STdl e
* Yeast/ YR
® Hydra /BISSI
® Amoeba / 3HIET

® Human beings / HI®

Correct Answer :-Human beings / ™

17)
Question Stimulus :-

The sum of the digits of a two-digit number is seven. By interchanging the digits it is

twenty seven more than the original number. Then the original number is VA

aﬁﬁwgmmﬁﬂmél 3! P SAfIAHT F1 W Yo G- J 27 34w giar 71 99 o =T
[

® 20+5
® -20+5
® 20+-5
® -20+-5
Correct Answer :-20+5
18)
Question Stimulus :-
From the given figure, Find £P. / & Wi emefa § £P 3ma S

(37)



R

e 60°

e 30°

e 40°

¢ 450
Correct Answer :-40°
19)

Question Stimulus :-

The path of air in the respirato.ry system is num_bered and given in order. But I went wrong
in one step. Find it out / 49 & ¥ Iy & AR B 3ifpa fvar § ik w0 | Rar 81 A% o v mur &
Tdd g1 T[Tl 59 UdT S|

1.Nostrils 2. Pharynx 3.Bronchi 4. Trachea 5. Bronchioles 6. Lungs 7. Alveoli / 1. TNIgR

2. TTT 3. S8 4. YT 4! 5. NPT 6. BHs 7. TRIBIPBT
® 3.Bronchi / SI~bIg
® 5.Bronchioles / ’H'\‘lﬁ?)'l’
® 6.Lungs / m
* 7.Alveoli/ ATIDIRDT

Correct Answer :-3.Bronchi / SI<pTS

20)
Question Stimulus :-

The following graph shows the marks scored by A and B in a test series consisting of 5 tests i.e. Test 1 to Test 5. Each
test consists of 200 marks. Answer the subsequent question depending upon the information in the graph. /

frafafad arw A ofiv B gRT udiem # g T siel &t fewrar g, PR 5 ¢ 8l (R 1 A L 5), W
I 200 3(F BT I UTP § SFPRI P MMYR TR JaTd T odTd |
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e

I

e

For B, Maximum percentage decrease in marks will be in /B G ﬁl'l'{ 3l H Srftpad ufaea o HHI £ i

® Test2
® Test3
® Test4
® Test5

Correct Answer :=Test5

21)
Question Stimulus :-

Electrical appliances like iron box, hot plate, geyser have in them a coil of high resistant wire called / fororelt &

IUHIVN S TR d1e, gic We, MoR A 3= ufeaRiy dR arell U $eal gidl 8, N9 wgd ¢ :
® Filament / dvq
® Fuse wire / TSl dIX

® Element /dcd

* Insulated wire / Fagaq-Aet TR

(39)



Correct Answer :-Element / dcd

22)

Question Stimulus :-

(34) (34)

2 L2 NEYY, 2 .
IfsinA:ﬁf",thenfind b J/HﬁsinA: 3/ i ”anaﬁ|

® is undefined / SraRHTYa %

Correct Answer :-is undefined / 3MURHTYT g

23)

Question Stimulus :-

If the area of a quadrant of a circle is 4 m2, then the area of the circle is ./
afe fll ga & aqufe &1 g 41fier2 &, o 9d &1 &A% gl

* 4 m2/ 4 HeR2

e 8 m2/ 8 Hiex2

* 12 m2/ 12 Hiex2

* 16 m2/ 16 Hic3?
Correct Answer :-16 m2 / 16 #Hiez2
24)

Question Stimulus :-

A beam 9 m long, 0.4 wide and 0.2 m high is made up of iron which weighs 50 kg per cubic meter. The weight of the
beam is ./ TP TS NP TS 9 Hiex, TSTE 0.4 HIe? 3R A1 0.2 Hiew &, SH ag 4 FAfdfa @
AT e so fPmufd T MBI ST ae= @

e s56kg/ 56 fpuT

o 4gkg/ a8 fomum

(40)



e 36kg/36fHEuT
e 27kg/27 W

Correct Answer :-36 kg / 36 foUT

25)
Question Stimulus :-

The following graph shows the marks scored by A and B in a test series consisting of 5 testsi.e. Test 1 to Test 5. Each
test consists of 200 marks. Answer the subsequent question depending upon the information in the graph. /

fraferiad UTE A SR B GRT Tdiam # @ T 3ip! & fe@mar g, SR 5 3 el (RT 1A TK 5), W
I 200 3P BT T UTH N SITHBRI & TR TR T BT SdTd ¢ |

T

g

e

If in Test 6, A scores 10 % more marks than in Test 5, to maintain the granc] average of A
& B the score of B should be than his score in test 5/ IR TT 6 HA BT THR T 5
¥ 10% 3 3P @I, A 3T B & THR BT U 3 991U 7@ & fAT B & 3 e 5 9
BT TR

® 10 % less / 10% &®H

e 10 % more / 10% HIal

® 9.09 % less / 9.09% HH

e 22.5 9% more / 22.5% Mgl

Correct Answer :-22.5 % more / 22.5% TIGI
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26)
Question Stimulus :-

Which of the following statements is INCORRECT for penguins? f-1 # 9 SIH-9T 9 W34 & fawg # eq 32
e They huddle together / 3 gvs & tou w4 §
e They have webbed feet / 3% I Irwiigr 8ld &
e They cannot swim / 3 & T8 9o
® They have streamlined body. / 3T YRR JSId BT ©

Correct Answer :-They cannot swim / 3 a¥ gt I&d

27)
Question Stimulus :-

The organic manure is considered better than the application of fertilizers because /@'Ia lg P IAD! B LGEEL i

AR HHT STdT ¢ Fife
® Manure enhances water holding capacity of the soil. / ©l¢ Jal W ST YR &Hdr Al Wl?ﬂ %l

® Manure makes the soil porous due to which exchange of gases becoming easy. / €lq Hal &I Y FATAT %

o A9 &1 faf~ma s a=1a 21

® Manure increases the number of friendly microbes to improve the soil texture. / &lq Ut ﬁ&ﬂﬁﬂﬁﬁ I

T=T ¥ gig ®edl ¢ ord ga1 $1 §91ae 399 8 93|
® All the above facts./B"Clﬁ?K'f Tt au|

Correct Answer :-All the above facts. / SURIaT TH |

28)
Question Stimulus :-

Major component of Natural gas is / THfd® T &1 4T 9P &
* CH,
°* CO,
* C,Hg

* CH, & CO,

(42)



Correct Answer :-CH,

29)
Question Stimulus :-

A well preserved body of a man was found in Antarctica. It survived the decaying process by the micro-organisms

becausethemicrobes/@éﬂ'ﬁﬁmwGi?mﬁ:'CITQTTIT-ITI Wﬁﬁ-ﬁﬁmmﬁ
EEREIECICASICE

® (Cannot act at a temperature that is above normal / HTH® dTY A SR P a0 R S1Y T-Iﬁ BT Thd
® Cannot act at a temperature that is below normal / - dTU T & 99 R St T-I'Eﬁ B gPhd
e Can act at a temperature that is normal / HH® dlU UR P B ghd &

® (Can act at a temperature that is below normal or above normal /Q'\a' 9 W S H IHd % S HEE °
- 8 9T e 9 SR 7l

Correct Answer :-Cannot act at a temperature that is below normal / HIH® dTd ¥ 5 & 917 W B :I'Eﬂ
PR TPHd

30)
Question Stimulus :-

The following graph shows the marks scored by A and B in a test series consisting of 5 tests i.e. Test 1 to Test 5. Each
test consists of 200 marks. Answer the subsequent question depending upon the information in the graph. /

frafafaa % A 3R B gRT WHIa # @1 ¢ 3/ &I feamar g, fd 5 ST e (ST 1 A L 5), &)
I 200 3fF BT I UTH H SFSRI & STUR W dTd T Sd1d ¢ |
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Minimum decrease in marks of B is less than maximum increase in marks of A by / &1 & 3{®1 H gadH FH A S

3wl # Srftrpaw gfex & forasit o0 82
® 56%
® 75%
® 86.6%
® 89%

Correct Answer :-86.6 %
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